ELSH ORI (R6. 3. 31 HEIE) GHBBLUASHE WA M)
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oA B H T R OBl #H N R AT X X B T A OB 3 A AT X
1 F /K& fE K 183,840 184,228 100.2 |1 & i % 11,021 10,560 95.8
2 WKL EE A 4 3,451 3,451 100.0 |2 4 B #H 156,112 144,736 92.7
3 Z 0w ¥ A 2 101 5,050.0 [3  #& & # 28,826 25,606 88.8
4 fth = F M B & 127,461 127,461 100.0 |4 P& fli B A # 280,964 280,961 100.0
5 il B & 21,165 19,065 90.1 (5 3 # # E 16,654 16,455 98.8
6 % » fth 170,029 170,103 100.0 [6 % %) fi 4,751 4,609 97.0
SN i 505,948 504,409 99.7 XA G 498,328 482,927 96.9

T K EFE X = B (EER)

A B H T B OB A % BOAT B X B H T H OB #E X % BWOAT B
% W AHE e 1 0 001 HHERKRH 1,000 307 30.7
% W E e 1 3,850 | 385,000.0 |2 AIE[HE & & EERE AL 315 245 77.8
s & & 27,304 27,304 100.0 |3 1 ¥ & H & & 137,048 137,047 100.0
A A 27,306 31,154 114.1 X A E 138,363 137,599 99.4

EEBER 747, 066 (A3 303, 128 #FER 443, 938)




B EKE K K F E = i (IR
oA B H T R OBl #H A % AT X BN E T A OB 3 A AT X
1 T K E BEH B 36,160 36,214 100.1 |11 % = % 5,484 5,144 93.8
2 Z Ol AR 1 7 700.0 [2 4 PR % 27,172 25,039 92.2
3 o= B A B & 56,855 56,855 100.0 [3  #& 3 # 11,401 9,843 86.3
4 4f Bl & 4,316 4,316 100.0 |4 P& fli B A # 107,906 107,893 100.0
5 % 72) fit 70,992 70,999 100.0 (5 3 # F B 14,356 14,255 99.3
6 = D s 1,141 1,596 139.9
SN i 168,324 168,391 100.0 X A E 167,460 163,770 97.8

B EE K K F X = B (BXH)
oA B H T B OB N R AT X o B A T R OBl 3 # AT X
1 %% &5 #H & 1 1,650 | 165,000.0 |1 4 I & 3% o B % 2,400 1,210 80.4
2 M % & 28,171 28,171 100.0 |2 AL stk B & 2,190 1,980 90.4
3 B E & e AL 0 0 0.0
4 1 X EE R & 60,917 60,916 100.0
SN 28,172 29,821 105.9 X WA E 65,507 64,106 97.9
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K E F E = (R
A ® H T R OBl #H A % BOAT B BN E T A OB 3 A BoAT F
1 # K I % 341,327 341,860 1002 |11 K #H ok 79,903 76,630 95.9
2 % 5t T UL 4% 2,771 2,865 103.4 (2 B & Kk B 43,873 42,506 96.9
3 TRk AFAMRS 1,586 1,869 11783 % # T H= # 2,439 2,439 100.0
4 = I F B 25 26 104.0 |4 #& £ # 23,494 17,845 76.0
5 fl = 3 M B & 13,857 13,816 99.715 X #  F B 22,860 22,859 100.0
6 % D fit, 64,807 66,474 102.6 |6 % D s 176,142 176,216 100.0
SN i 424,373 426,910 100.6 X A E 348,711 338,495 97.1
K B F % it (BEAH)
oA B H T B OB N R AT X o B A T R OBl 3 # AT X
1 1 ES & 200,000 200,000 100.0 (1 54 oK it 7% o B 2 227,668 227,660 100.0
2 47 # 4 506 988 195.3 |2 DERACHE K R i B B 57,230 54,265 94.8
3 FE M B & 38,172 38,172 100.0 |3 18 5y 7K 3 it 7% 4 i & 7,150 7,150 100.0
4 B oM B & 0 0 004 & % & W % 6,015 5,735 95.3
5 — ki Min e 25,811 25,811 100.0 |5 1= ¥ & & & & 112,706 112,706 100.0
SN 264,489 264,971 100.2 X WA E 410,769 407,516 99.2
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